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m
=—=m =
P=y .4

M pevey ol :(1000%}(159“0-%3) =15%g
— Am =159-135.15=23.85kg

Mo = (850%}(15%10%3) =135.15kg
or
Vie= 1o

Am :phtho _plono —>Am :(pho _plo )V

Am =(1000—850)k—g3x(159x10-3)m3 =23.85kg
m

3 CA RS X
P, =101kPa=101x10’Pa
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P,=P,, +P, =P, +p,gh—> P, =(101x10°)+(1000x9.8x15) = 248000Pa = 248kPa

atm atm
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P,=P,, —P, =P, —p,gh—P,=(101x10")-(1.18x9.8x 250) = 98120Pa = 98.12kPa
=" P san =" =y =My o 500
Vo Ah P pA pA, (1000).(0.1)

P, =P,+P, ,=P,+(pgh,)=(101x10)+(1000x9.8x 5) =150000Pa

P, =P, +(20x10") =150000 +20000 = 170000k Pa

P, =P, +(pg (hy +1))=(101x10°)+(1000x9.8x (i, +1))
[1]& [2] - 170000 =101000 +9800 (4, +1) — &, =6.04m

p="g >my=pV —>my=pA,.h, =m, =(1000).(0.25).(6.04) =1510kg




Py =P, +(20x10°)
Py+PB, , =P, +B, , +(20x10°) = P, +(pg (h, +1)) = P, +(pgh, ) +(20x10°)

20x10°
= (pg (hy +1))=(pgh, ) +(20x10* )= (h, +1)=h, +M
pg
(20x10%)
>h, =h, +——=-1
pg
=-m V —m
"o sah == g 2 Py o0
Vo=Ah P pA PA, (1000).(0.1)
(20x10°)
hy =5+ —————~—1=6.04m

(1000).(9.8)
=g >my =pV —>m, =p.A, h, =m, =(1000).(0.25).(6.04) =1510kg

| =0.001044 (m/)
v, =1.67185 (M/)

at7 =100°C » P_=101.3kPa - P>P_ 6 —

sat sat

b) — (3 g3be) STy @olo
atP_ =125kPa > T =10599°C > T <T, —

sat sat

a) athO°C—> > V>V, > a5 g8k b

T, =99.62°C
at P=100kPa — v, =0.001043 m’/kg
v, =1.69296 m’/kg

v =v, +xv, —>v =(0.001043)+(0.6).(1.69296) =1.01682 m*/kg

mgl lemA Y =%;zD2 — 4 :%;z.(o.oom)2 =1.54x10" m’

PA-P,A (P,-P,)A

TP A sz = 0 - PWA = Path + mg —> m= L = d am
w g g
at T =125°C — P, =232.1kPa

[(232.1x10%) - (101x10°) |.(1.54x10°*)

m = =2.044 kg
9.8
PV =nRT
T(K)=T (°C)+273 — T (K)=(-30)+273=243
n:1—> n:ﬂ:ZO mol
RT 0.0821x 243
n=TC o= o =29 00,
M n 20






